Run 11365, integration on 12 samples
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1.5 4
2
1.0 \
s ..$§ a;;...$ ..
%% .‘0 C %e ¢ 1 -0
0.51{ = 33
'd ' Seoe ®
. L ..: f}. :. ......f L ® _2
»
éo_o-'.. _..;71 L oo
> * v¢ LTS g % 3 -4
L] t *® ® ¢ ® S © 740
o... > ° ! . A% [ #
—0.51 = 3 :ﬁ’..’. —6
N Ly, * :‘ X
® .x ® : .. ...O
—1.01 . . e ¢ —8
—1.51 | EngilneeringCameraFrlame —10
-1 0 1
X (m)
HG pedestal std [ADC]
1.51 36
@ ]
1.0 %" VY
...g .@..O’. 34
..} 3 y O PR,
0.5 - : .o. 1 . »X y
' o 5% % .y 32
y i o TN S e
. $$o e G ® .Y
c e ) ® R ®
— 0.0 o % Y .... p PR 30
> 2 RS S XA Ses S9N
,1 ) . 3 ’$. T b
— i L LI o Bl g » @
0.5 7 102 byt g
® [ ] .. PY e "Cog O 1
® 9 a t @ ... ‘ [ ]
—1.01 e °C og *®
' Rl A 26
~1.5- | | EngilneeringCIameraFrzlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
120+
BN HG Median -5.02, std 2.21
100 -
80 1
U
% 60
o
40 1
20 1
O_
-12.5 -10.0 -7.5 -5.0 -=-2.5
HG pedestal
100 -

pixels

O_
—10.0

-7.5 =5.0

LG pedestal

B LG Median -4.18, std 1.95

—2.5 0.0

2.5

1.5

—1.51

1.5

1.0

0.51

y (m)

—0.5"

_1_0_

—1.5-

pixels

80 1

60 -

pixels

20 -

O_
17.5

LG pedestal [ADC]

[ ]
..
" T
®
[ Suhar 2 Y

®
£.3
®
o.’f. : S
®

p To v, ¢ 5

g 3 » " d

B .' @ @

* R r:“%. 4
oo > .o

&

@
* ®e
[

EngineeringCameraFrame

1 0 1
x (m)

LG pedestal std [ADC]

0.0 -

‘
TRer oy

EngineeringCameraFrame

~1.0

_05 0.0 05 1.0
x (m)

30

-28

26

24

22

20

24 26 28 30 32 34

HG pedestal std

B Median 30.30, std 2.00

36

20.0

22.5 25.0 27.5
LG pedestal std

B Median 23.80, std 2.23

30.0




600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 11365, pixel O
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